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344 Bl 4104211 ioriorrr 19 | FEEAE XY %§J\ = 50
345 Fx 4104211 9wikwiornk2] | FEEAE XA RE T 50
346 T* 410421 19kwkkioriok6b | FEEAE XA R G 'E'! > 50
347 Jii* 410421 19%kkeietonk2] | FEEEAL XA RS I 50
348 X i 4104211 9ioriorrr30 | HEEAE XA %éj\ = 50
349 Tk 410421 19kskpkoiok29 | FEEEAE XA (R B 50
350 Bk 41042119tttk d9 | FEVEM: XA %éJ\ = 50
351 ok JE 4104211 Pkseiororiord2 | FEFERE XA IRZE 51 50
352 T 4104211 Qksrkoin22 | HEEEAEXRT %émz 50
353 BKHAT 410421 19kiortiendd | FEHEAE XA RS 51 2% 50
354 FH s 410401 19skkseiioiok 17 BiHRUS HE X AT 2 R4 50
355 Xij* 4104011 Pksertorion2d PR 41 XA R ZE 51 4] 50
356 P 41040119k X PEARJE A XA B2 514 100
357 Bk 4104011 9ottortoon2b PRSI IR ZE B3 4 50
358 xR 4104011 Qottoiotcond  PrARUME 4 XA R ZE 514 50
359 ek 410401 19k 12 PRRUE 1 XA RO ZE 51 4 50
360 ERAR 410401 19korototox20 PR A XA RS 51 4 50
361 B 41040119525 PEARE H- XA B2 514 300
362 JifisAE 410401 19ekortoror 25 PR 41 XA R ZE 014 100
363 s 4104011 9otiortrn23  PARUE DX IR ZE B3 4 50
364 #ks 410401 1Qetorototon2b  PRARUR A XA B 01 4 50
365 XA 4104011 Qkksoiorkx28 PS4 XA RZE i 4 50
366 o 410401 19%kskxx25  PrARE 4L XA B2 54 50
367 Dt 4104011 Pettorion2X  PERUE 4 XA R ZE 51 4] 50
368 X 41040119ttt X P URUSE 4 XA IR ZE T 4 50
369 Jifi 410401 19522 PEARE A XA B ZS 514 50
370 XAl 410421 19skkkkx14 )if“’fﬂiﬁ%éJ\z 50
371 = 4104011 Qkksoorkx2X  BARUL A XA R i 4 100
372 Sl 4104011 9okttt 2X L);U“ XA RS 7 50
373 T 4104011 9otiorton29 PRSI IR ZE B3 4 50
374 o 4104011ttt 14 BRSO A XA B 01 2 50
375 2 4104011 9otiortion 12 PORUE 1 DX IR ZE B2 4 300
376 Zsp 4104011 9ototoroioror3X BRI 1 DR B2 B3 4 50
377 XiJ% 4104011 Pksortoiox29  PERUE 4 XA R ZE 51 4] 50
378 ERs 4104011 9obortion22 P US4+ XA [ ZE T 4 50
379 B2 41040119kttt 26 PR+ DR R 01 2 100
380 e 410401 19skkikkix2 ] »);U“ A XA 2 R 4 50
381 ik 410421 1 9%k 14 UG XA R 1 4 50
382 Pratf 4104011 9erottorok 10 L);U“ XA IR 51 2 50
383 P 4104011 9ottortoordX  PORUE - XA FRZE B3 4 50
384 Pt 4104011 Qottiotckon29  PERUE 3 XA R ZE 514 50
385 Sk 410401 19k 20  PRRUE 1 XA [ ZE 51 4 50
386 B 410401 19%kkkxx29  PYURE 4L XA B2 514 50
387 P 4104011 9sorisoriorer22 PRSP IGZR PR 4 50




288 Tk 410401 19%scrokokk24  PEURUE #E X R B 1 4 50
389 Jifisk 4104011 9ttt PRI £ XA IR 3 4 100
290 IR 4104011 9skksetolotok 15 B FE X AT L2 R4 50
391 B 410401 1 Qkpsoioirk 10 BRUS AL XA R 7 4 50
392 Vrekh 410401 19kkksckokkk28 MR A1 X AT L ZR R4 50
393 Fx 410401 1 Qsksoiorrk X BIRUS A XA R 2 4 50
394 S 41040119tk d7 PR 4k XA B G 4 50
395 TS 4104011 Qkskotorork 26 B U AL X AT R R4 50
296 P 410401 1 Qktosiototors 1X PEARUSE AL XA 2 514 50
397 =% 410401 19skksii622 B A X AT 2 R4 50
308 e 410401 19kkkscko626 B U AL XA R R4 50
399 L ef 4104011 Yorottoliok 10 »);U“ R R 01 2 50
100 T 410401 19skskeksieioksksk23 DR 4 XA R 1 2 50
401 FH % 4104041 Ptttk 27 L);U“ FEX A R ZE 4 50
102 = 410401 19%kksckkkk23  BEHRUE #E X AT L ZR R4 50
403 sz 410401 1Qetorototon26 PR A XA B 01 4 50
104 F1l 410423193kttt 39 BRI - X AT L2 R4 100
405 A 410423 19kskrkxx29 B i 4 X AT L 2% 51 4 50
106 TxH 410423 19kt 10 B S 4k X AT L 25 71 4 50
407 %8 4104231 9iornoni 19 B I KR [ 25 2.4 50
108 25l 4104231 9skskeksicokskkd 3 hiﬂfrfhﬁl:ﬁﬁﬁsz 100
409 ek 4104231 Qsotrrrn28 BN IE 1 X b 28 514 50
110 S 4104231 9skksksickesksk 2X hﬁXjf‘ﬁEﬁ%é%z 100
A1 1 410423 19kktkx23 BB 41 XA 2 514 50
412 T R — hu:xjr“ XA R Z 54 50
113 R 4104231 9ksortrx26  BREE # XA .2 R 4 50
114 Ay 41042319kt 24 US4k X AT R 25 71 4 50
N T 410423 19kskrkrx27 B S 4 X AT 2% 71 4 50
116 i 410423 19kt 10 AR 4k X AT L2 71 4 50
117 A 410423 19%kstkok2X B 4 DX 2 514 50
418 R 410423 19ksrtrk36 B AL X AT 75 51 4 50
119 D 4104231921 B 41 XA 2 514 50
120 X% 4104231 Qkstkrrx 19 PB4 b 2 514 50
421 Bk 4104011 piorioriord9 | FEH XA RS 'E't = 50
190 e 410401190tk 13 [ AL XA R 5 50
423 % 410401 19kkiiions28 scur?filiﬁﬁémz 100
104 Sk 41040119kl 27 [ FE#E X AT REZE 100
195 agg* 410401 19k 1 4 XUiﬁ‘iEﬁE%’E‘A 50
426 Bl 4104011 Poorortoron28 [ A XA RS A 100
407 frmT] 4104011 9%tk 15 | X1 ﬁ‘j:l:ﬁﬁﬁj\z: 50
193 A 410401 19kt 13 |1 FE - XA B2 B 4> 50
429 2 41040119kt 10 | FERE DOR RZE bl 22 50
130 s 41040119tk 15 [ A XA R Fi 4> 50
431 ) 41040119ttt 2X | XU FEFE XA R 51 2% 50
130 T+ 410401 1 Qketsctookk25 | I FEE XA B2 B 4> 50
433 Ex 4104211 Yottt 2b X H ?filiﬁ%émz 100
434 i 410401 19serkrx2X | XA X REZR 5 50
135 Eon 410401 1 9kt 20 | X1 FEAE X A E%?m = 50
436 o Eaes 410401 19kiorototordX | X FEAE XA RS 51 2% 50




437 Tl 4104011 9pksortrn29 I FEAE XA REZS 01 4% 50
133 Sk 4104011 9skkkskekx20 | 1] FE 4 XA %éﬁ% 400
139 e 4104011 9kwpksorkn2] XA AL XA R 51 &5 50
440 kAL 4104011 9kkrrix38 | X FEIX AT %ém = 50
441 ek T, 4104011 9sksmiotonk 16 | A XA R B 50
442 A7 4104011 9ttorioror 14 | FEAE X A %§J\ = 50
443 Tl 4104011 9skksictototok 14 [ A XA 25 B3 50
444 sk 4104011 9kppnrix 1] XA XA R Z G F‘tA 50
145 SEwag 410401 19pkpkix 18 | X4 XA RZR 5 50
446 fiffla 4104011 9ekioton 18 XU AL XA Eéj\ = 50
VY R 4104211 Qoo 19 | RIFEH XA RZE R 50
448 & 410401 19k 15 | RAEAE X %éJ\ = 50
449 X% 4104011 Pkttt 2X | EAE AL XOIE IR TR 5 100
450 Ftsedg 410401 19kttt 10 | EAE X f %ém = 50
451 Fax 410401 19etoottorkon2? | o bEAd (X R ZZ 1 2% 50
452 Bl 410401 1ottt 19 | EAERE X s R G 2% 50
453 i 410401 19botorkox20 | I AEAd X R ZS 01 2% 50
454 Tyt 410401 19kietiorion2d | I AEAE X RZE 1 2% 50
455 2k 4104011 9rottotiorn 3 | e A pd X R G 22 50
456 Akl 4104011 9sopiioriien22 | AEAE X JE R A& = 50
457 A5k E 4104011 9%ikpiornk 13 AL X R RE R 50
458 B x 4104011 9otktortorn22 | T AFAE X EéJ\ = 50
459 AT 4104011 9orioriior 11 | e dAt X 2R B 50
460 Zshn 41040119kl 1 |IRAFAE X JE Eém = 100
461 A 4104211 9ok | e ArAt X 2R 5 50
162 Tk 410401 19kkkskkx 11 | pRERE X B %é/&: 50
463 i 410401 1Pttt | LR X f [EZR Oy 100
464 Tt 41042219634 [ IR X E E%%m = 50
465 Mgk 410401 19kkkpokkx46 YA X ERB RS 50
466 ks 410401 19osorrond2 | R YEAT X E?E% 50
467 kg 41040119tttk 20 | R YEAE KR R 51 2% 50
468 s 410401 1 Qorotoior38 | YA X R G 2% 50
169 1< 4104011 9sksoiorior 13 | ikt XJE RE RS 50
470 %48 410401 19srrkix 1X | YA X R ZE 6 F'IA 50
471 Foxlk 410401 19kkksoknx22 e AE X E TR 50
479 ik 410401 1 9sseionser23 IR YEHE X & %§J\ = 50
473 W b 41040119k ] | i X E KRR T 50
474 x5 4104011 Qkpsoiornx4 |t X JERED F‘tA 50
475 e 41041 119skskmieknk20 | BB X E KRR 50
476 X% 4104011 9%iksiokk25 | oAt X E Eéj\ = 50
477 IH-s:48 410401 1 Qssoktiorsor 13 [RYHAE X ERFE RS 50
478 Bkt 4104011 9ekiortn26 | RYFATE X i 2 1 2% 50
479 FExis 410401 19t X R YEAL X R RS 51 2% 50
480 Bl 410423 19kkrkird6 | R PRAE X [ 7 2% 50
481 XM 4104211 9ottiornd8 | JpVE A X RZE G2 50
482 P 4104011 Qorotoioor22 | R YA X R G 2% = 50
483 Bl 4104211 9oiiorikr29 | YAt X 2R 5 50
484 i3I 410401195kt 17 [ I X & E%%m = 50
485 Ty 410401 19kkkpokkx61 YA X ERB RS 50




486 S 41040119tttk 20 | SuY AL [X 2 R 2 b1 s 50
487 kg 4104011 9ekiortn 10 |RYFATE X o 2 T 4% 50
488 ik 410401 19kt 19  |IRYEAE X R RS 51 2% 50
489 Tk 4104011 Qkkkwiokkx 10 [ EXERER S 50
490 g 41282819kttt 28 | B YRAE X JE R G125 50
491 AL 410401 19spkkprrx28  |YiAE X %émx 50
492 K 4104011 Pksetororior X | IR X R IR 51 50
493 T3k 4104011 Pkttt 13 | i X & EéHA 50
494 ek 41040119k 2X A X E R 50
495 Al 410425195620 | iU X E?A = 50
496 Aok 41040119k 19 |y X E KR 50
497 ok 4104011 9kkkkkkk 12 m/)?ﬁl:}%%éJ\z: 50
498 HH 4104231 Pkkrtorkx29 AL X E R T 50
499 e 4104011 9%iksiokikd5 | oAk X E Eé% = 50
500 e 4104231 Qpiorioris67 | RIEHIX ERE RS 50
501 B2 4124271 9%kkpkkxx26  |REH X ER B RS 50
502 Hoxky 41040119kt 26 | PR X RZ RS 50
503 B A 4104011 9kskkioriok2X  RYFAE X ERE RS 50
504 P 4123271 Ptttk 28 | i X JE R i 2> 50
505 T 4190041 Qiorotoioo69 | YA X i [RE G 2% = 50
506 Xt 4104011 9otiortrn20 [ IeYiAt X K2 I 50
507 JE %5 41040119k 2X (L ﬁ‘il:*]t%éJ\z 50
508 E 410401 1 iototorier23 o I A XA RO 63 4 50
509 P 4104011 9otttk 22 | IR A DA R 2R B3 4 50
510 Fax 4104011 9toetetotior2 1 fi = A XA RG2S 51 4 100
511 Bl 8 4104011 9ottt 2d IR A1 XA R 514 50
512 E 410401 1 Qkkstokkx2X 1 IUH AL XA RE R 4 100
513 T 4104011 Gttt ] i I 4 XA B3 A 4 50
514 T 410401 19%sksskokok21 i Ji 4 X ) B2 7 4 050
515 Hk s 410401 1 Qetorototoor27 i U A XA RS 01 2 50
516 e 410401 19526 i i FE 4 XA} 25 514 50
517 Fx 410401 1Qekorototo 19 U A XA RS 01 4 50
518 T 4104011 9stotoisoroioror20 i U A DA IR B3 4 50
519 Pk 410401 1 sororoiotord X 51 A DXAT AR 671 2 50
520 W 4104011 9ottt 20 1 U A DA 2R B2 4 50
521 Pxis 410401 1 Qetorototor2d i U A XA RO 01 4 100
522 Ak 410401 19ekoetotior2 i I 4 XA RG2S 51 4 100
523 HRkids 4104011 9opisiorsieier28 i U A DA [RZE PR 4 50
524 e 41040 11 Qksoronseok 26 1 IO 41 XA [R5 0 4 50
525 = 4104011 Qkskskototork 17 B B AE X AT R 4 50
526 [ 4104011 9ikpiork27 T A X AT RZ R 4 50
527 fi]* 4104011 Qiorioniok25 W A 4 XA (R 28 52 2 100
598 K4 4104011 9wiknioknkd3 [ IH AL X AT RZE R 4 50
529 Bix T 410401 19soksiorior 17 01 4 XA R 2 51 2 50
530 [k 4104011 9%xxxxxxx29 g i = A4 XA [ Z 51 4 50
531 Bk 4104011 9ottt 1 X iU #1 DX R 54 50
539 ok 410401 19526 i i FE 4 XA} E 25 514 50
533 [T 410401 19 X i1 5 4 XA 25 514 100
534 Bk R 4104011 Qoo 19 I A XA IEZR 534 50




535 5ok 4104011 9kskkorix2X AU 41 X B 23 51 4 50
536 i 4104231 9otttorioro20 [ IR A DA R 2R B34 100
537 X% 410401 19skkksioox25 i iU 4 X AT B2 R4 50
538 B 4104011 Qkskktorork 20 B4 X AT R R4 50
539 Sk 4104011 Poototesotoon2 ] i I FE A DA R 2R 53 4 50
540 Pxis 410401 1 Qetorototox20 i U A XA RO 01 2 50
541 P 4104011 9kkkorkx29 I 4 X B R ZS 51 4 50
542 e 4104011 9sototorioror2b [ IR A DA B2 B3 4 50
543 T 4104011 9sorotsoriorord3 o U A DA IR PR 4 50
544 dE 4104011 Qetorotototor3 ] AU A XA RS 1 2 50
545 Xy 410401 19tksorton2b i JiFE A1 DX A R 28 0 4 50
546 Hx 410401 1 Qekorototox20 i U A XA RS 1 4 50
547 Wt 4104041 iorotorieond8 I A DA RO B3 2 100
548 7K 4104011 9otttk 2b [ IR A DA IR 2R B3 4 100
549 Fix 4104011 9ottt 12 i U A DA 2R B2 4 50
550 e 410401 1okttt 14 JUFE A XA RO 01 4 50
551 Xi* 410401 19528 i i FE 4 XA} 25 514 50
552 Bk 410401 19kskiokior62 i B 4 XA R ZS 51 2 50
553 2 4104011 9ottt 22 i U A DA IR PR 4 50
554 B 4104011 Qetorotototor 18 U A XA RS 01 4 50
555 F 410401195k 2X i i FE 4 XA} B2 514 50
556 Fx 410401 1 Qotorototondd i U A XA RO 01 4 50
557 JifiskE; 4104011 9stotoisoroioteor 1 7 U A DA IR B2 4 50
558 e 4104011 9sottorioror28 [ IR A DA IR 2R B3 4 50
559 Rk 4104011 9ksstokkb 1 B U AL X AT R T R4 50
560 fffi% 4104011 9siksiork25 i i AL X AT R B R 4 50
561 FxIf 4104011 9iksiork27 [ IH A X AT RZE R 4 50
562 ok 410401 19skiokiok26 i 1 4 X A R 2 51 2 50
563 Jifis s 4104011 9skskieionk39 g i AH X AT R R 4 50
564 = 4104011 Okskrorix23 I 4 X B R ZS 51 4 50
565 i 4104011 9eboetetoteor 17 i 4 XA FEZE 1 4 50
566 X+ 41042319k 18 [ IR A IXA RZEF £ 100
567 T 1Ly 4104231 9pkiortnds |5 R AL XM ROZS 01 4% 100
568 Tx 4104231 9kspkiondX | LR Eéj\zz 100
569 Bk 41042319sksmieink2X IR EH XA R T 100
570 B 4104231 9sskpiorsek2X [ EHXAL %§J\ = 100
571 Jfx 4104231 9rrrrk27 IR FAE X R R R 50
572 W H 410423 1 9ot 1 X %ﬂi[ﬁ%éﬁﬁ‘ 50
573 P 4104231 9kskpiortor X R FAE XA RZE 7 50
574 W 4104231 9pkkprrx2] |5 FAE XA Eﬁj\ = 50
575 Tk 41042319wpkrpkrx1X |5 XA R i 5 50
576 Fix= 4104231 Porotoroorb7 IR P4k XA R G 25 50
577 i 4104231 9%kkxkkkx40 |52 FAE XA FEZS 2 50
578 il 4104231 9ottt 17 SR B4R R R A 2% 50
579 EE 4104231 9%kkpkix27 IR 14 KR RZS 51 25 150
580 F{f 4104231 9%kkkekkx28 |5 R4 IX A RZR 1 & = 50
581 1]l 4104231 9ktotoionkdX SR FH XA R G 50
582 T AR 41042319tk 14 [ R EH XA E%%m = 100
583 k% 4104231 Qkkriokx18 | IR FAEXK REB RS 100




584 % 4104231 9kksctokokxd9 SR XA RS B 4y 50
585 Tk 4104231 Pk 23 |5 FAEX AT %éﬁ% 50
586 [k 41042319kksioiook25 [ SR F A XA R ZE Fi 4> 50
587 B /R 41042319kt 27 [ SR F 4 X AT %ém = 50
588 BT 4104231 9%kscrcrerk20 SR FAHXFTRZE G 50
589 Bexg 4104231 QkkssorokrxdX |5 FAEX S E§J\ = 50
590 Tl 41042319tttk 15 (IR Ak XA 2 5 50
591 Zsx ] 41042319k SR FAHXFTRZE F'IA 50
592 sy 4104231 9%ktottoionkd6 | SR FH XA R G 50
593 Fexiz 4104231 Pketsictorx3] SR FAE X ) Eé% 2 100
594 [ 41042319kt 27 IR FAE XA RZE G 50
595 ks 41042319kl 2X |8 F A X KT EéJ\ = 50
596 Fh 4104231 Pttt 20 SR FAE X R R B 50
597 A% 4104231 Ptttk 2X | SR FAE X ) %ém o 50
598 R 4104231 9skksietoioiord6 [ SR FAEIXOM RZE i 4> 50
599 Ty 4104231 9%srrrrrex 16 |8 FAEIXOF R 4 50
600 B3 4104231 Pkt SR FAE X R B4 50
601 Zaf 41042319k 26 | R FAE XA R 4 50
602 T 4104011927 | 1L A XA R i 2 50
603 Ak 4104011950620 |1l Ak XA RZE i £ = 100
604 ik 4104011928 |l XA R B 50
605 Tk 41040119kt 24 |1y ik XA EéJ\ = 100
606 X% 7K 41040119tk 19 |l ph XA R B 50
607 Rk 410401 19skksie624 | 111 4k XORS %émz 50
608 CEr 4104011927 | 1L 4k XA 2R b 50
609 gk 4104211 Qkketsictotork56 | Ll AL X ) %§J\ = 50
610 ek 4104011922 |l ik XA R B 50
611 XK 41040119kttt 1X | 1Ly i 4k XA E%%m 2 100
612 B2 4104011928 | 1L Ak XA R Z i 2 50
613 Bk 4104011 Qketsictotor2X | Ll kL X A} %éiﬁ% 50
614 Fxky 4104011 Pttt 24 |1l mpk XA RS B 2> 50
615 =k 410421190662 1l A XA R Hi 4 50
616 ek 41040119k 26 | 1L Ak XA R ZS i 2 100
617 Xk 41040119k 2d |11 AL XA R F'IA 50
618 X% BT 41040119tk 1X |l pk XA R B 50
619 JRk 4104011923 |1k XA %éJ\ = 50
620 = 410401193kt 10 | 1L @k XA 25 5 50
621 2k 410401195629 |11 AL XA RZR D F‘rA 50
622 Fx 410401193kt 29 |11 Bk XA 2 54 100
623 XJH7K 4104011 Pkttt 11 |1l i fE X At %éj\ o 50
624 1]l 4104011 Pttt 1X |1l sk XA RS B 2> 50
625 25 % 41040119k X |11 AL XA T T 4 50
626 XIJx4H 4104011 9ksokpiorsor39 |1l A XA RFE S 50
627 ek 41040119k | 1L AL XA R T 4 50
628 1] 4104011 Qtttoioornd6 |1l mpk XA RS B 2> 50
629 i 41040119626 111 Bk XA RZE B 4 = 50
630 Xl 41040119tttk 21 | 1Lk XA 25 54 50
631 SUETA 410401 19%kssererkk 11 |11 AL X AT E%%m = 50
632 s 410401190tk 15 |1l ik XA RZR 1 2> 50




633 R 41040119kttt 16 |1l 4k (XA R Z8 i 4> 50
634 ok 410401 1 9ok 2X |1l gk X AT %éﬁ% 50
635 Bk 41040119k 28 | L1 i Ak X AT RS i 2 50
636 XI5 410401195kt 18 [ 1) i 4 RS %ém = 50
637 B 4104011929 | 1L 4k X AT 2R b 50
638 R 4104011 Qketsictotor28 | Ll k- X At %§J\ = 50
639 FH % 41040119k 25 |l ik XA R B 50
640 ok 4104011 9kswkkioriok24 |1l AL XA R 5 F‘tA 50
641 ik 4104011922 | 1L Ak XA 2R B 50
642 RN 410421 19kkksctototok 14 [ AP X AT %éj\ = 50
643 T 4104211 Ptttk 20 | RPPAE XA RZE B 50
644 il 41042119kl 23 [ AEE 4 X AT %éJ\ = 50
645 25 . 41042119tttk 10 [ AP AT 2 B 50
646 Rxdz 41042119kt 30 [ AR X AT %ém o 50
647 T 410421 1 9tototok2] [ RIPHE XA RZE 514> 50
648 T 410421 1 Qkoiorrnd8 | REPAE XA RZE H 2> 100
649 Akt 410421 1Qkkksioksx22 | RBEAE X F] RS 72 150
650 ZEkIR 41042119k 19 R X A RE R & 100
651 KT 410421 1 Qctortotiok 12 [ SRIPHE XA RZE 514> 100
652 sex 410421 1 Qksoiorrx20 | REEAE XA RZE F 2 = 50
653 o 410421 1 Qsotoptorsor27 [ RPPAE XA R 50
654 Hx 410421 1 Qokotsictoork26 | AREPAE X ) EéJ\ = 100
655 fE#HK 410421 19tttk 12 | AREPAE XA} B2 B 50
656 ks 41042119%kksie6 19 [ AREEA: XOFS %ém = 50
657 xR 41042119tk 2d | RPEH XA R 50
658 FexE 4104211 Qoketsictokr38 | AREPAE X A} %§J\ = 150
659 ek 4104011930 | RBPH: XA R 50
660 Sk HL 4104211 Pkttt 11 | REPAE X ) E%%m = 50
661 2%k 410421 19%skkirrk 16 [ RIFAE XA RF T & 50
662 ok 410421 1 Qokotsictokrx28 | REPAE X ) %éiﬁ% 50
663 Bkt 4104211 Ptttk 15 | R )4k XA RS B 2> 50
664 Ak igs 4104211 Pkt 27 | R4 IX A RB R 2 50
665 % 410421 1Qkksiorx28 | Py 4L XK R & 50
666 Lk 410421 1 Qkpsoiorx29 | R 4L XA RZED F'IA 50
667 [ 410421 19sksmioknkdd | Ry AL XA R 50
668 MG AE 4104211 Qketsictoork20 | RV #E X ) %§J\ = 50
669 k7 410421 1 9ssckotokotonk26 | | ]k XA FEZ B4 100
670 TxE 410421 1 Qkpsoiorx23 | R4 XA RED F'IA 50
671 XI5 4104211 9ktottotonk 10 | Ty 4L XA 2 50
672 Fesdt. 410421 1 Qkkssckokkx22 | Ty #E X At %éj\ o 50
673 s 4104211 9sopiorsor23 | R AL XA RF 4 50
674 =k 4104211 Qkskstorokkd2 [ Ry 4 IX A RFEB R 2 100
675 [EEYia 4104211949 | R[4 XA R ZS i 4 50
676 Tk 410421 19%kxxkkk26 | P AL XA R T R & 50
677 ExI 4104211935 | R[4 XA R ZS i 4 50
678 7k 4104211 Pkskorokk20 | Ry 4L XA RFEB R 2 = 50
679 e 410421 19tttk 27 | V] #E XA B2 B 300
680 FxE 41042119kl 2X | Fy] 4 XA E%%m 2 200
681 BES 41042119k 26 | R[4 XA R ZS i 2 50




682 RN 41042119k 18 | P4k XA RZE 4 100
633 ok 4104211 9%kkiork28 | FIAE XA REB RS 50
684 e 4104211 Pkttt 39 | Ry 4k XA R b 2> 50
685 T 4104211 sioiorier 13 | R AL XK %éiﬁ% 50
636 i * 4104211 9kkionin2d | FIAE XA R 51 4> 50
687 By 41042119kttt 16 | R A XA %éJ\ = 100
638 TxF 4104211 Qrrrrr2X | R 4L X R R 5 50
639 Bk 2 410421 1 9ok X | NI A XA RZE 5 F‘t > 100
690 Bk 410401 1 Qksopiorsor24 | B AR XA RZR B4 100
691 = 4104011 9%kkk20 | B A X AT E?A e 100
692 B 4104011 9ikpioknk14 | B A XA RE R 50
693 T 410401 1 Okt 2X | B R X KT EéJ\K 100
694 FxiH 4104011 9%kpioknk 18 | B AAE XA R T 50
695 Bl 41040119k 19 | B AR XA Eéj\ = 50
696 R HPR 410401 1Qksooknx 13 | B LXK RZE RS 50
697 e 4104011 Qketsictorx29 | B A AL X b B2 B 4> 50
698 ki 4104011 9kpkrrix2d  |FAAEX A R T 1 &5 50
699 Ak 4104011 9ikwiorik25 | H A XA REBER S 50
700 KAt 410401113 |HEHXHNEZE RS 100
701 ik 41040119623 | B A XA R Hi 4 = 50
702 HEx B 410401 19pkiprix13 | B4 XA RZR 5 100
703 (U 41040119%kk3k23 | 5 AL X AT %éJ\ = 100
704 k% 4104011 Pkttt 13 | AR XA R DY 150
705 E % 4104011 Qktsictokrx20 | B AL X ) Eéj\ = 50
706 FxE 4104011 9kpiorxk38 | B HE XA R T 100
707 o 410401 19%skkikrk2X | AL X AL %é/a: 50
708 T 41040119621 [ BH A XA RFE 5 100
709 Fx 4104011 9%kkk5x23 | 5 AL X AT E%%m = 50
710 B 4104011 9sikiork26 | A XA REZ RS 50
711 sk Al 4104011 9kioriorir32 | H FEAE XA %éﬁ% 100
712 Bk 410401 19%kpkirrx25 | B IEA XA R 1 2 100
713 XU 4104011 9otttk 26 | B FEAE X AT Eéﬁ% 50
714 T4 4104011 9wkkpirnk28 | B A XA RE RS 50
715 Iy % 4104011 Qksowtorrn22 | B FEAE XA Eéj\ = 100
716 XK 4104011kt ]19 | B AR XA RS 51 200
717 Tl 4104011t 20 | H FEHE XK %§J\ = 100
718 Bl 4104011 Pttt 10 | B AR XK R B 50
719 B 4104011 9sksoioror 19 | B FEAE XA RZE S 'E"A 50
720 #x H 4104011 9%kkpioknk15 | B A XA RE T 50
721 Wi 41040119kttt | B HEH XA Eﬁj\ & 50
792 % 4104011 Qoo 14 |HEHXHNEZE RS 50
793 Xi]% 4104011 9%ikiorik24 | H EH XA RERS 50
724 Afkse 4104011 Qkptoorior 12 | B EH X RE RS 50
725 Bl 4104041 9ktkikd8 | B AL X PTRZE RS 300
726 Ak H 4104011915 |HEHXNEZE RS 100
727 FExd 4104011 92l |HEH X RBE RS = 100
798 Tk 41040119k | B A XA R 100
729 Hhxfh 4104011 9otttk 14 |5 FEAE XA E%%m = 100
730 A x 4104041 Qoo 2X | F AR XA I ZR G 2% 100




731 W5 4104011 9kpkrrkx18 | AL XA R ZE 51 &5 50
732 T 4104011 9ekiortion2X | B AR XM FOZS T 4% 50
733 B 4104011 Qoo | H AL XM R 01 4% 50
734 Fx 4104011 Qksptrorin29 | B AL XA %émz 50
735 Fx 4104011 Pkseteoroion26 | B 4L XA IR ZE 51 50
736 B+ F5 4104011 9kkpkrrix65 | B AEX AT %§J\ = 50
737 Kkl 4104011 9ikwiork2X | B HAE XA RE R 50
738 Fx 4104011 9kpinin25  |H A XA RE G 'E'IA 50
739 ek 410401 1 9sopiorsor 16 | B AR XA RZR B 50
740 A 41040119kt 7 Efﬁ‘il:ﬁﬁﬁj\z: 50
741 Bk 4104011 9ikpiornk 10 | B AR XA RE T 50
742 Texbk 410401 19pkirtrx27 | H I ?fil:hﬁé/\z: 50
743 XI5 41040119k 17 | F AL XA IR TS 5 50
744 BiidE 4104011 Qksrtorin2] | B AL XA Eém = 50
745 ExfJ 410401 19kiorototen28 | B FEAE XA RS 51 2% 50
746 Fxt 41040119627 | A XA R H1 4 50
747 Es 4104011 9pksortn 17 | B FEAE XA ROZS 01 4% 50
748 Hxi 4104011 Qoo 18 | B FE AL XA R ZE G 2% 50
749 T 410401 19swksortrnd3d | B AL XA ROZS B 4% 50
750 XI5 4104011 Qksttrorin30 | B FEAE XA %éj\z: 50
751 ik 4104011 9ikwiorxk20 | B AAE XA RE T 50
752 Bk 410401 19kssokkok 13 Erﬁﬂ:ﬂ%éuz 50
753 T 4104011 Pksetoroondd | B AL XA IRZE 51 50
754 Aok ] 4104011 9otkotten ] 7 Ea‘iﬁliﬁﬁémz: 50
755 X|* % 41040119kt ]18 | B 4L XA IR ZE 51 50
756 Sk 410401 19sseionsek23 | B FEAE X AT %éms 50
757 HEx 4104011 9ikwiorxk20 | B FE XA RE F 50
758 T 4104011 Pkskskoioknk24 B A AE XA E%%m = 50
759 BB 4104011 Pksertotton26 | B AL XM [RZE 51 4% 50
760 B/ 410401 19s%skksk5%19 EEHIXH%?E&% 50
761 Al 41040119619 [ B A XA R F 2> 50
762 o 41040119ttt 17 | B FEAE XA RS 51 2% 50
763 k% 4104011 Qkksiornx23 | B AL XK RE £ 50
764 B 410421 19wkkkerkx2]  |HH) %il:ﬁﬁé'g%‘ 100
765 FxA 4104211 9skskmioinkdd | AH) 4 XA R 50
766 P 4104211 9ottt 2b  AH) ?filiﬁﬁémz 50
767 {4t 410421 1ot |KHT 4k DA IREZR 100
768 Ji* 4104211 Qsrtrnr 16 [AR) %iEﬁEéHA 50
769 JE % 410421 19kkrkrx50 (M) XAT RS 5 50
770 XI5 410421 19%kskrrkx24 | AH] FEIXAY %éj\z: 50
771 b 41042319sikmiorik25 | VP XA RE RS 50
772 o 4104231920 VP HE R RZE G2 50
773 Tk 4104231922 |VETHE XM RS 51 2% 50
774 Rt 4104231 9ottoriorn28 | VEHIHE XA R A £ 100
775 Hik 41042319k 28 | YA X AT R ZS fi 4 50
776 Ee) 41042319ttt 26 | VFHE XA R 51 2% = 100
777 Ak kil 41042319skskmieionk65 | VFHTHE XA R 50
778 Xk 4104231 kw23 | FHTHEIX AT E%%m = 200
779 Tt 4104231 9ok 98 | VDAL XA IR A 42 50




780 B 41042319tttk 60 [ VYT #E XA R ZE i 4> 50
781 ¥ix¥ 4104231 9kkksoikk2X  [VFHTH XM RB R 2 50
782 Tk 41042319kksioeik2]  [EDT#E XA R ZE Fi 4> 50
783 T 41042319k 1X [EDTHE XA R D F'IA 50
784 iy 41042319tk |VFH A XA R 200
785 25 %]l 4104231 Qkksscrokrx 1X | VFE#E X AT %§J\ = 100
786 2k p 4104231 9kkkskkx48 [V XN RBR S 50
787 Bl 41042319k 23 | YEYTHE X KT R Z 4> 50
788 2k 4104231 9kskkstokk 26 [V IX N RBER & 20
789 ko 410423190628 [ D IXA RZE Hi 4 = 50
790 Pkt 4104231 Pkkksororkd 7 [PFHAE XA R T 50
791 Tx 41042319kl 26 [VF B 4 X AT EéJ\ = 50
792 FxA 41042319tk 17 |VFH A XA R 50
793 ThHFY 410401 19skksie624 |5 A XORS %ém = 100
794 =] 4104011 Qkkstornnd2  |TK AL XA R G4 50
795 Wy 4104011 Qotetsictotor2] | TR AL X AT %éﬁ% 50
796 [k 410401 19kkkpiokkx28 TR AR XA R R & 50
797 Fhs R 41040119k 18 |FK FEAE X KT R ZR & 'E'IA 50
798 iz 41040119kttt 2] |5 A XA 2 B4 300
799 Xk 410401195kt 27 |5 A XORS %éj\ & 100
800 ek 4104011 9siskiorek20 gk A XA RZEZ 4 100
801 xS 410401 1 Qo0 TR AL XA R i 2> 50
802 FRr 4104011 Qkksiornx 19 |TK AL X KRB & 50
803 g2 410401 19%kxxkkk30 [ EAH XA R T R & = 50
804 Fxbt 41040119ikwiorxk89 | 5K A XA R 50
805 gk 4104011 Qoketsictoor 24 | Tk AL X ) %§J\ = 50
806 ek |- 4104011935 |5 FE A X AT ERZS B 50
807 FxH 41040119kt 27 |5k A4 X AT E%%m = 50
808 2k AH 410401190k 10 |58 AL XA R 5 50
809 g 41040119kt 14 |5 A XORS %éj\ = 50
810 T 41040119tk 18 |5 FEA: XA R B 50
811 Fx 41040119kt 12 |5k B4 X AT EéJ\ = 50
812 e 4104011 Pttt TR AR XA B2 DY 300
813 TR 410401195kt 19 |5 A XORS %ém & 100
814 ki 41040119kttt 16 |7k AR XA RS i 2 50
815 xR 4104011 Pkkorok 13 [FR A XA RB R 2 = 50
816 kx| 41040119kttt 22 |5 A XA 25 B 50
817 Tt 41040119kttt 19 |5k A4 XA E%%m = 50
818 Fx 41040119kttt 26 [T A4 XA 2 B4 50
819 25Tk 41040119kttt 14 |5 A XORS %éj\ = 50
820 *E 4104011 Qkkotorx27 TR AL XA R G 4> 50
821 EkER 4104011 Qoketsictotor25 | TR AL X ) %éﬁ% 50
822 e 4104011 Pkttt 14 TR AL XA RS D 2> 50
823 PRI 4104011 9kkssoiobrk 19 SR A XA RE D F'IA 50
824 1) 41040119k ] | 5K FEAE XA R B 50
825 gk 25 4104011 Pkttt 13 | TR AL X A} %§J\ = 50
826 TR*AE 4104011927 |5 FE A XA FRZR B 50
827 o 410401 19%kkkxk22 | 7K HEAE X AT Eé%m N 50
828 Wyx e 4104011 Qkkstorkx20 TR AL XK R Fi 4 50




829 i x 4104011 9orksortrnd] | FEAE XA REZS 01 4% 50
330 FxB 41040119528 |5k FE 4 X A %éﬁ% 50
831 i 4104011 9ottt 2d | TR AR DR IR B 42 50
832 Bk L 4104011 9eksoten12 |7k AR XA Eém = 50
833 ks I 410401190k 19 |5 AL XA R 5 50
834 Ty A 410401 19kskkiorok20  |5K AL X AT EéJ\ = 50
835 Bk 4104011923 | 9K FEAE XA R B 50
336 B 41040119k 16 |l oA X AT E%?'E"A 50
837 ¥l 41040119tk | 5K FEAE XA R B 50
838 Ry 410401 1 Qksoiorrr 1X TR HEAE XA %éj\ = 50
839 Ypx 4104011 Pksotororion28 | XIE A1 X AT IR ZE 51 50
840 Ty 410401 19kionkx27 XIS HE X AT %é% = 50
841 T 4104011 9otortorn 15 XIS AR XA 2R I 50
842 e 4104011 9okiortron2X XIS AL XAT Eém = 50
843 o4 410401 1kttt 7 XIS HE XA RS 51 2% 50
844 Hx 4104011 9kiortin2] XIS AR XA FEZS 01 2% 50
845 Bk 4104011 Qrottotioron28 XIS 4E X AT RS G 2% 200
846 2% 4104011 Qkkkwiokx 18 [RARFE XK R R & 50
847 X 410401 19kttt 11 XU A XA RS B 2% 50
848 e 4104011 Qoo 11 RIS AR XA R ZE 5 2% = 50
349 T 410401 19pkpkix28 XIS 4 X ]ZR 5 50
850 ok 410401 193ksskkn2s | XIS A DXAT %éJ\ = 50
851 Bk 410401 19kpkix 1X XIS 4 XA RZR 5 100
852 FixiE 4104011 9epkioton] 1 XIS AR XA Eém = 50
853 B 4104011 9ekiortrn 19 XIS AR XA 2R I 50
854 P 410401 19kt 1X | XU AL DXAT %éj\ = 50
Py P 4104011 ksotstoroioror2] BRI AL XA TR 7 50
356 T 410401195k 24 [FX U 4 X A Eéﬁmz: 50
857 Wk 41040119k 14 AR HE XA B 4 300
858 Fhksle 410401 19%kkskkrrnd6  [BXUSHE X T %éﬁ% 100
859 = 4104011 9pksortrn2X XIS AL XA REZS 01 4% 50
360 T 4104041 9%ksksectolok0X [IXUS H X K 25 1 £ 100
861 2l 4104231 9otiortrn26 XIS AL XA R 1 22 50
862 B 4104011ttt ] | XU HE XA FRZS 5 'E'tA 50
863 T 4104011 9okortrnd9 XIS AR XA 2R I 50
864 EE 410401 19ksoskkn2s | XIS AL DXAT %§J\ = 50
365 Ay 410401 19%kskskkk28  [XIS 1 X B} R ZE 7 50
866 ik 4104011 Perottotornd7 XG4 XA RZE § F"A 50
867 2 4104011 9opkiortrn29 XIS AR XA 2R I 50
868 ik 4104011 9pkiotion14 XIS AR XA %éj\ = 50
869 T 410401 19kiorttier29 XIS A XA RS 51 2% 50
870 2l 4104011 9ottoiioro 1 X XIS HE DX FRZE T 2> 50
871 L 410401 19kiorototion2d XU HE XA RS 51 2% 50
872 Jrxk 4104011 9ottt 11 XIS AR XA RO B4 2% 50
373 V1Y 410401 19%skkinsk29  [RXISHE XA R Z 51 4 50
874 Hks 41040119ttt 7 | XU HE XA B 51 2% = 50
875 ek 41040119tk 2d  [RAIS A XA R B 50
876 e 410401 1 Qssoiorsor X XIS HE X AT E%%m = 50
877 - 41040119tk iRAIRHE XA R B 4 50




878 7 sklr 41040119tk 19 AR HE XA RZE 14 50
879 J7 % 41040119kt 19 [RX U [X A %éﬁ% 50
880 Fx 4104011 Pttt 26 XIS HE XA RO B 2> 50
881 Zxfg 410401195kttt X [XUR 4 XS %ém = 50
882 Fx 4104011 Pttt 26 XIS HE XA R B4 50
883 sy 4104211 Qoketsictotor 13 | BERAAE X ) %§J\ = 50
884 BT 41042119k 17 |MERA AL XA 2R B 50
885 Bkl 4104211950629 [MERFAL X AT R ZR D F'IA 100
886 %*;zﬁz 4104211 9skksetoiook2X [ BERA AL X AT 25 B4 50
887 Hxg 4104211 Qketsictoork 10 | BERAAE X ) %éj\ = 50
888 Fesog 410421 19%ksriok2X  [WE IR AL X AT FCZR T 50
889 Al 41042119kl 26 | MR A X KT EéJ\ = 50
890 Fsrh 41042119k 10 [WE AR AL XA 2 B 50
891 ok 2. 4104211 Qketsictokork 16 | BERAAE X ) %ém o 50
892 =] 410421 1 Qsopiorsor 13 [MEREHE XA RF 1S 50
893 gk 410421 1 Qoo |MERAAE X b B2 B 4> 50
894 ok 410421 1 Qsopiorsor22  [MEREME XA RFE 1S 50
895 ok 4104211 9%kxkk20  |BEFRA XA RZE & 100
896 A3 4104211 Qssotoioinok20 MR XA RE Fi 4> 100
897 7k 4104211 Pkkkorokk X [BERRAE XM RE R 2 = 50
898 sl 4104211 9ktottoionkd8 | MR XA 2 B 100
899 k1l 410421 19%kksiciolok52 | MERAE A X K} EéJ\ = 100
900 Hx 41042119k ] |MERR AL X AT 2 I 50
901 ek 41042119%kksctotekok63 [ BERA AL X AT %ém = 50
902 Tk 41042119kt 12 [BERRAE XA R TR 50
903 Vs 410421 1 Qkkscroknx 18 | MERFAL X ) E§J\ = 150
904 sk i 41042119k 1 1 | MR XA R B 50
905 BT 4104211 Qkkwiokkx22 | BERRAE XA Eém = 50
906 WA 4104211 9%5ksckes625 | BERA A XA R T L 50
907 2Lk fil 41042119kttt 12 [BERA AL X AT %éiﬁ% 100
908 s E 4104211 Pkttt 11 | MERAAL XA RO B 2> 100
909 Blix 4104211 ko2 [BERRAE XM BB R 2 100
910 s 4104211 Qoo 2b | MERAEAL XA RO D 2> 100
911 AR 4104211 Qkkssoiorrk 23 [BERRAE XA RE D F'IA 100
912 i 41042119tk X | MR XA R B 50
913 Akl 410421 1 Qksscroknx 25 |BERFRAL X ) E§J\ = 100
914 Fx 4104211927 |MEREAL XA 2 B 50
915 Boxq5 4104211 kketsictoor 10 | MERAEAE X K BEZS 5 F'IA 100
916 Bﬁt*ﬁi 41042119tk 14 | MR XA R B 50
917 Hxg 4104211 Qoketsictoor 13 | BERAAE X ) %éj\zz 50
918 ZsxHif] 410421 1 Qsopiorsor56  [MEREAE XA R 14 50
919 Tk 41042119k 1 X |MERE AL XA R i 4 100
920 I 41042119k |WEREAL X AT R Z 14 50
921 e 4104211 Pkkkoroknd8  [BERRAE XM RB R 2 50
922 K 41042119k 10 |MERA AL X AT R ZS 12 50
923 i7x 410421 1 Okt 17 |MEREAL XA R 1 2> = 50
924 B ff: 41042119k 19 | MR XA KRR B 50
925 Tk 410421 19%5ksi623 [ R A XS E%%m = 50
926 Rk 41042119k 2d | MERE AL X HT R ZS i 2 50




997 73k 4104211 Ptttk 10 | WAL X A RO B 2> 50
928 fo 410421 1 Qoo d | MEREAE XA R 2 50
929 T 4104211 Pkttt 20 | MERAAL XA RS D 2> 50
930 E 410421 1 Qksciorrxd6 | MEREAE XA R G2 50




